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Question Numbers : (1 to 20)

(i) Data Sufficiency (Marks: 20)
CSTPOF DTS aaed (30e 0y ex: 20)



Note: In questions numbered 1 to 20, a question is followed by data in the form of
two statements labelled as () and (Il). You must decide whether the data
given in the statements are sufficient to answer the questions. Using the data
make an appropriate choice from (1) to (4) as per the following guidelines:

(@) Mark choice (1) if the statement (1) alone is sufficient to answer the question,
but (Il) does not answer the question.

(b)Mark choice (2) if the statement (ll) alone is sufficient to answer the
question but (1) does not answer the question.

(c) Mark choice (3) if both the statements () and () are sufficient to answer
the question but neither statement alone is sufficient.

(d)Mark choice (4) if both the statements (1) and (Il) together are not sufficient
to answer the question and additional data is required.

Hetded: 1 0B 20 5B DS (D (D3 S 2.8 159, T (Bod |, Il e
Hen Ko Bodd |1DSVTen SToFomr QSHIDFON. DD
STOoFR) GOlIrHoD, VDD (DIDTEN (D DT
QD0 JTETEN ©JHEdSr B @ N ATdoTE. &
AT G250 180 SO 8E SrEen sHIBITNoD (1) Do (4) SO%0 OO
€900 ZaT2DeD OE TOADOL.

(@) (59150 DAITEO0 BDJ0HE0 1DISS0 (1) SP D Horedow, (Il) D
DIAPEOWS SOEFS 2o 2w (1) I oS0,

(b) 15%)%0 JATEO0 AT HONEY 1DSTIS0 (1) SF(HaD Do gDdow, (1) D
DAFBWS;BAS’ D 25720 (2) i fHBotodk.

(€) 1D¥)1%0 JSrdo AT johd (HaSTren (1), () 30 HogRdon
20 D) 283,63 5@ HTEN0 TEFB 2 257 (3) T oo d.

(d) 15450 DIrTd0 BB 0050 [DSSTEen (1), (1) $ed S5rme Hor o 528
@55 AT040 @I30B000ES b 272w (4) T HdoBodk.

Sub questions

Question Number : 1 Question Id : 6326863954 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If a,b and c are sides of a triangle, is it a right angled triangle?

2.8 (2920230 ABwEy 2w a,b OO ¢ OB, ©O 2.8

0DEED 32DB0 WY OTT?

(1) a<b+ec.

(i)  a,b,c are consecutive integers.

a,b,c €0 SR JPT°OZeN.

Options :
1. %1

2. % 2
3.%3
4. ¥ 4

Question Number : 2 Question Id : 6326863955 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Is the integer n a prime?

FTOE0 n 2,8 (DTRC0ES® ?

() (n+1)%iseven.

(n+ 1)? 28 A8 dows .

(Il n+1 is prime.

n+1 28 (D5 QOMS.

Options :



1. % 1
2. % 2
3. %3
4.4

Question Number : 3 Question Id : 6326863956 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the mean height of the students in a class of 40 students?

40 06 Deesehen e 2.8 HSHBS DTTshHed deiped Hrien i)

o) OEd?

(I)  The total of the heights of the students in the class is 42.50

meters.

SEHBS D DT sDO0SB Deéhye> Fnedo 42.50 M.

()  The class has equal number of boys and girls.

&3 SHBHBS'D 2N, 2rAEeN DTS HoseS Eordh.

Options :
1.¥ 1
2. %2
3.% 3
4. % 4

Question Number : 4 Question Id : 6326863957 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the area of that rectangle?

&3 AGHIRD GO0 JT°EZ0 DOECH ?

(h Perimeter of that rectangle is 34 cm.

es HSHSD0 By NEYT e 34 0. .

(Il Length of the diagonal is 13 cm.
DEG0 gressy 13 O. .

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 5 Question Id : 6326863958 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Is the positive integer n even?

S oPT050 11 B0 YR OTI®?

() (n+3)?is divisible by 9.

933 (n + 3)2 2rN0D OO,

()  (n+ 2)%is an odd integer.

(n+2)% 2,823 dops.

Options :
1. %1



2.9
3. %3
4. % 4

Question Number : 6 Question Id : 6326863959 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the radius of the sphere?

Y0 arsrd=00es?

(h Surface area of the sphere is not more than 144n cm?® .
es ffefo TB0E),. GDBBE IF°50 1441 0.2 55 B0y
5*C.

(I Volume of the sphere is not less than 288w em?®.
e AP0 ABVE) NINBITD0 2881 VO3 8D 68076

5°¢.

Options :
1. % 1
2. %2
3.¥3
4. % 4

Question Number : 7 Question Id : 6326863960 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the value of ¢ ?

c O35 D) OEH?

h a,b and c are real numbersand b + c = d.

a, b sDOOIN ¢ €N TN DOWEEN SDEAW b + ¢ = d.

Options :
1. ¥ 1
2. %2
3.3
4. % 4

Question Number : 8 Question Id : 6326863961 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the common difference of the Arithmetic Progression?

@0% 3G BEY DT0HB0 DOed ?

(D The sum of its first 20 terms is 580.
3 |3RT30EL INEHES 20 HTEe FB0o 580.

(I The eleventh and the sixteenth terms of the Arithmetic
Progression are 31 and 46 respectively.
3 @OEBEASD DAFOGBS HOAW DB Heen
ST 31 DB 46.

Options :
1. ¥ 1

2.¥2
3.%3
4. % 4

Question Number : 9 Question Id : 6326863962 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the average of p,q,r and s?

P, q, 7 oNBO 5 © AN DOeH?

(h 3(p+qg+s)=63andr=3.
3(p+q+s)=63080r=23.

) p+gdr=8+24



Options :
1.v 1
2. %2
3.% 3
4. % 4

Question Number : 10 Question Id : 6326863963 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the percentage of defective items produced in the factory?

LTS0S €565183 TDODDAS S NHOES € HETron IS
FoH0 D0EDH?

() The total number of defective items produced in that factory is

450.
&3 E0mSosS G638 TohadS T3S SN0 EDS

4

e IS0 o s 450.

(I)  The ratio of defective items to non-defective items is 50 : 1250.

S’ H0Ee FE3H0B S H0 B e38 K> DA 50 : 1250.

Options :
1. %1
2.¥2
3. %3
4. % 4

Question Number : 11 Question Id : 6326863964 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If ACB is a straight line, what is the angle £ACD ?

ACB 2,8 3% T @0, §°0 LACD DO¢eh?

()  DCis perpendicular to CE.

CE 30 DC @020 &0oO.

(I 2£ECB = 3£ACD.

Options :
1. % 1
2. %2
3.¥3
4. % 4

Question Number : 12 Question Id : 6326863965 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the value of r in the following triangle ?

508 |B2DH206S r TBEY Densd DOeh?

) p+q=110°

() gq+r=120°

Options :
1.¥ 1
2. %2
3. %3
4. % 4

Question Number : 13 Question Id : 6326863966 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the total enrolment of students in the class?

SSHBS ST D SNBO0 Do HOE?

() The number of boys and girls in the class are in the ratio 1: 4.

3 5GBS erentd, 2rOEerdy e DAL 1: 4.

(I)  The total enrolment of students is a two digit perfect square.
0G0 ITETS dpsden dog 2.8 Bockose dosyd
Sdo.

Options :
1. ¥ 1
2. %2
3.¢¥3
4. % 4

Question Number : 14 Question Id : 6326863967 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the height of the tower AB?

00250 AB TBNE) D) DOeH?

() Seen from a point C in line with B the angle of elevation of A is
30°.
B Hod J8¥Td D D) Dochsy € dvod A O
L&) ASL €838 ¢8%a0 300,

(I)  Seen from another point D in line with B the angle of elevation
of A is 45°.
B DO0& J80D 2 DD 088 Dochy D Hodk AD
TPV ABO &8 5800 45°.

Options :
1. ¥ 1
2. %2
3.%¥3
4.v 4

Question Number : 15 Question Id : 6326863968 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the rate of simple interest on the term deposit?

DB N BNBO B DEFIE Doeh?

o

(h The amount deposited is Rs.50000.
PN T 0EO . 50000.

(Il At the end of the term the amount received is Rs.56000.

S r050 €5¢Dared PO FNE20 B 56000.

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 16 Question Id : 6326863969 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the present age of the mother?

HE) 1D e O ) OeH?

()  After five years, the mother will be twice the age of her
daughter.

D NN0IE YT HEDETeH €5 e D 55), S SODD))

3830 soierd.

()  Fifteen years ago the mother was twice the age of her daughter
five years ago.
DA D055 )T 1850 €5 HOHD) DA DD
D050 1BH0O €65 Bredd % 250D 150 BE0).

Options :
1. %1
2. %2
3. %3
4.v 4

Question Number : 17 Question Id : 6326863970 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Among the five students A, B, C, D, E each scoring different marks in an

examination, who scored the lowest marks?

2,8 HBE S cHHS% Dsthen A, B, C,D,EOS’ (Hed s DDS)
S0 OB, €96d506h 6550765 o320 FTPOODIE DIB?

() D got lower marks than only C and E.
C 08050 EE &) 230 €5330 DO 550363 630700 &POT .

() B got higher marks than A.
AS) B0 3000 SPOTD.

Options :
1. %1
2. %2
3.¢¥3
4. % 4

Question Number : 18 Question Id : 6326863971 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Is A taller than B?

BESYA SrCHNBOS?

(h C is of the same height as that of A and B.
C Q303 2 A AHBAD B © DB Do,

(I B is not taller than C.
C 5a5) B &rcaiid 5°C%.

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 19 Question Id : 6326863972 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many brothers does A have?

A 50 09008 PN 5exn?

() A's father has three children.

A B0EY 0|8 SnthHd e erch.

(I A has two sisters.

A 5 2B P58 .



Options :
1. % 1
2.%2
3.3
4. % 4

Question Number : 20 Question Id : 6326863973 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
How is P related to R 7

R& P %0 e 2202065530 ?

() Ais a brother of P.
P Q305 2.5 PO A.

(I R is a brother of A.
A Q308 2,8 S R.

Options :

1. % 1

2. %2

3.%3

4.9 4

Sub-Section Number : 2
Sub-Section Id : 632686439
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 6326863974 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8% e (DS’ (NS’ Boch 2o (@ETe B
205 Tre) SHBAN DoWED) DurFen 05y, 2.8 26S Q0D
© 8 €20 HTE 2S5 30T ) H0LNOD. &8 OF ) 27| KNehm
00D PP OB 73S Jrodod.

MN : HS :: GT :

(1) BY
(2) €X
(3) DW
(4) EV

Options :

1.¥ 1

2. %2

3. %3

4. % 4

Question Number : 22 Question Id : 6326863975 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8% e (DS’ (NS’ Boch 2o (@ETe B
205 Tre) SHBAN DoWED) DurFen 05y, 2.8 26S Q0D
© 8 €20 HTE 2S5 30T ) H0LNOD. &8 OF ) 27| KNehm
00D PP OB 73S Jrodod.

BKEG : YPVT :: CFIL

(1)  XVREN
(2) XUOR
(3) XRUO
(4) XURO

Options :

1. %1

2. %2

3. %3

4.v 4

Question Number : 23 Question Id : 6326863976 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8% e (DS’ (NS’ Boch 2o (@ETe B
205 Tre) SHBAN DoWED) DurFen 05y, 2.8 26S Q0D
© 8 €20 HTE 2S5 30T ) H0LNOD. &8 OF ) 27| KNehm
00D PP OB 73S Jrodod.

KMIP : PINK :: :

(1) READ : DEAR
(2) FAIL: LIFE

(3) BARD : DRAB
(4) ALMS :SLAM

Options :
1. ¥ 1
2. %2
3.¢¥3
4. % 4

Question Number : 24 Question Id : 6326863977 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8% e (DS’ (NS’ Boch 2o (@ETe B
205 Tre) SHBAN DoWED) DurFen 05y, 2.8 26S Q0D
08 €20 HTE 2S5 T30 ) SN0, &8 OF ) 27| KNehrT
00D PP OB 73S Jrodod.

ICET : OIKX 3 : YQOV

(1) SKIJP
(2) SKIP
(3) SLIP
(4) TKIP

Options :

1. %1

2.¥2

3. %3

4. % 4

Question Number : 25 Question Id : 6326863978 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8% e (DS’ (NS’ Boch 2o (@ETe B
205 Tre) SHBAN DoWED) DurFen 05y, 2.8 26S Q0D
08 €20 HTE 2S5 T30 ) SN0, &8 OF ) 27| KNehrT
00D PP OB 73S Jrodod.

PLAN : MIXK :: MAPLE :

(1)  HNOIJX
(2)  HYNIC
(3) JYNPC
4) JXMIB

Options :

1. %1

2. %2

3. %3

4.v 4

Question Number : 26 Question Id : 6326863979 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8% e (DS’ (NS’ Boch 2o (@ETe B
205 Tre) SHBAN DoWED) DurFen 05y, 2.8 26S Q0D
08 €20 HTE 2S5 T30 ) SN0, &8 OF ) 27| KNehrT
00D PP OB 73S Jrodod.

CART : AYP25 = DEP5 :

(1) BCM3
(2) CDN3
(3) BCN3
(4) BCNZ

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 27 Question Id : 6326863980 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8% e (DS’ (NS’ Boch 2o (@ETe B
205 Tre) SHBAN DoWED) DurFen 05y, 2.8 26S Q0D
08 €20 HTE 2S5 T30 ) SN0, &8 OF ) 27| KNehrT
00D PP OB 73S Jrodod.

ACT : 54 :: DEO :
(1) 54
(2) 52
(3) 51
(4) 50
Options :
1.¥ 1
2. %2
3. %3
4. % 4

Question Number : 28 Question Id : 6326863981 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8% e (DS’ (NS’ Boch 2o (@ETe B
205 Tre) SHBAN DoWED) DurFen 05y, 2.8 26S Q0D
08 €20 HTE 2S5 T30 ) SN0, &8 OF ) 27| KNehrT
00D PP OB 73S Jrodod.

©F) :@OPT:___ :{8RV

(1) @HL
2) @M
(3) @®JIN
4) @KO

Options :

1.¥ 1

2. % 2

3. % 3

4. % 4

Question Number : 29 Question Id : 6326863982 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8% e (DS’ (NS’ Boch 2o (@ETe B
205 Tre) SHBAN DoWED) DurFen 05y, 2.8 26S Q0D
08 €20 HTE 2S5 T30 ) SN0, &8 OF ) 27| KNehrT
00D PP OB 73S Jrodod.

LXM : 12X13 = UXW :

(1) 31X33
(2) 28X30
(3) 25X21
(4) 21X23

Options :

1. %1

2. %2

3. %3

4.v 4

Question Number : 30 Question Id : 6326863983 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8% e (DS’ (NS’ Boch 2o (@ETe B
205 Tre) SHBAN DoWED) DurFen 05y, 2.8 26S Q0D
08 €20 HTE 2S5 T30 ) SN0, &8 OF ) 27| KNehrT
00D PP OB 73S Jrodod.

RSL:B®J =R_T :SGIK

ONE)
2 @
3) @
(4)

Options :

1. % 1

2. %2

3.%3

4.9 4

Sub-Section Number : 3
Sub-Section Id : 632686440
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6326863984 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing out.
(108 : 31 DO 35 BB o (DF1OS” HBFOIE HEoTHHW.



8,15, 23,35, 48, 63, 80

(1) 23
(2] 15
(3] |b
(4) 63

Options :

1.¥ 1

2. %2

3. %3

4. % 4

Question Number : 32 Question Id : 6326863985 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing out.

(5e0QE : 31 0 35 BB (o (DF 10" JHBFOIE HEoTHHW.

Mars, Saturn, Sun, Mercury, Venus, Neptune, Jupiter

(1) Neptune

(2) Venus
(3) Mercury
(4) Sun

Options :

1. % 1

2.% 2

3.%3

4.¥ 4



Question Number : 33 Question Id : 6326863986 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Note : In questions numbered 31 to 35 pick the odd thing out.

5e0QE 1 31 0 35 BB o (DF 10" HBFOIE HEoTHHW.

Tiger, Lion, Elephant, Bear, Fox, Cheetah, Hyena, Leopard

(1) Bear

(2) Elephant
(3) Hyena
(4) Fox

Options :
1. ¥ 1
2.9 2
3.%3
4. % 4

Question Number : 34 Question Id : 6326863987 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Note : In questions numbered 31 to 35 pick the odd thing out.

(108 : 31 DO 35 BB o (DF10S” HBFOIE HEoTHHW.



19.23,27,.29,43,.67,. 73

(1) 19
(2) 43
(3) 27
4) 73

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 35 Question Id : 6326863988 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing out.
5% : 31 0 35 IB% o (DF10S” HBFOIE HEoTHHW.

RUN, WALK, SIT, FIT, JOG, STAND, JUMP

(1) RUN
(2) HIT
By SIF
(4) WALK

Options :

1. %1

2.¥2

3.%3



4. % 4

Sub-Section Number : 4
Sub-Section Id : 632686441
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 6326863989 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(1008 36 DO 45 SO5D (e (DFe0 2,8 DD YA RN DOVITV),
D3N ON. e AONITY) HHA0D DBADDH Adrrarerd
DD FJO0H0G.

504033282, 222 20.18>
3 7 9 11
(1) 25
1
(2) 24

(3): 23

=4
(4) 21;

Options :
1.9 1
2. %2
3.%3
4. % 4

Question Number : 37 Question Id : 6326863990 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

o8 36 DO 45 SO5 e (D460 2,8 DDA VOV,
FEIQDT Y0, e DONVSIT)  HND0D DBAHHDH DTS
DD HBoH0A.



3.3,.6 18 72, 2160, 15120

(1)296
(2)432
(3)350
(4)360

Options :
1. %1
2. %2
3. %3
4.v 4

Question Number : 38 Question Id : 6326863991 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(1008 36 DO 45 SOF0 (1O (D920 2,8 DDA DOV,
TEIDTY0N. 8 DONSITA)  HNA0D DBOHH drTrarere
DD FO0TH0A.

£ T.8.16.43, 107, 232,

(1) 452
(2) 419
(3) 396
(4) 448
Options :

1. %1



2. %2
3.% 3
4.9 4

Question Number : 39 Question Id : 6326863992 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

o8 36 DO 45 SO5 e (D460 2,8 DDA VOV,
FEIQDT Y0, e DONVSIT)  HND0D DBAHHDH DTS
DD HBoH0A.

8,20,40,70,112, 240

(1) 158
(2) 168
(3) 188
4) 178

Options :

1. %1

2.v2

3. %3

4. % 4

Question Number : 40 Question Id : 6326863993 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

08 36 DO 45 SO (e (D920 2,8 DDAV AODITR),
FEINTYI0W. 8 DOV HoND0D DBOHHH  Ddrraree
DD FOOTHOA.



35,9 15, 33,45, 59

(1) 21
(2) 23
3) 25
(4) 24

Options :

1. ¥ 1

2.9 2

3.3

4. % 4

Question Number : 41 Question Id : 6326863994 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(108 36 DO 45 SOFD e (DFe0 2,8 PD YA DODITV),
DrE3DT) 0N, 8 JONSITV), HeDA0D ABAHH DTS
DD FJOOH0E.

1,1.2,3; 5.8, 13 21,

(1) 28
(2) 29
(3) 31
4) 34
Options :
1% 1

2. %2



3. %3
4.9 4

Question Number : 42 Question Id : 6326863995 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(108 36 DO 45 SOFD e (DFe0 2,8 PD YA DODITV),
eI, e AONAT) AN DBADDH Adrrarerd
DD FJOOH0E.

58,13, _, 29,40, 53

(1) 16
(2) 20
3 22
4) 24

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 43 Question Id : 6326863996 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(1008 36 DO 45 SO5D (e (DFe0 2,8 DD YA RN DOVITV),
D3N ON. e AONITY) HHA0D DBADDH Adrrarerd
2D PEoH0A.



122, 9.3, 28,4 5,126

(1) 68
(2) 65
(3) 63
(4) 60

Options :

1. %1

2.v2

3. %3

4. % 4

Question Number : 44 Question Id : 6326863997 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(1008 36 DO 45 SOF0 (1O (D920 2,8 DDA DOV,
TEIDTY0N. 8 DONSITA)  HNA0D DBOHH drTrarere
DD FO0TH0A.

4096, 1024, 512, 384, 480, 720

(1) 460
(2) 420
(3) 394
(4) 384

Options :

1. %1

2. %2

3.¥3



4.9 4

Question Number : 45 Question Id : 6326863998 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

o8 36 DO 45 HO5 e (D460 2,8 DDA AODIFR)
FEIQDT Y0, e DONVSIT)  HND0D DBAHHDH DTS
DD FO0H0A.

1,4, 10, 22, 46, 94,

(1) 120
(2) 140
(3) 170
4y 190
Options :
1. %1
2. %2
3.% 3
4.9 4
Sub-Section Number : 5
Sub-Section Id : 632686442
Question Shuffling Allowed : Yes

Question Id : 6326863999 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (46 to 48)

(b) Data Analysis (Marks : 10)
SErod DANE (553°5.e0 : 10)



Temperatures on different days of a week in Hyderabad are given in

the following graph. Based on this data answer the questions 46-48.

8o® Bar SBoS 28 TB0S TETEFD S SHBS
S50 PO DBVERIE. &3 ST 0F0 SO0 46 DO 48
o ISMR (SR P E RY SENPREN A DINVDY

45

a0
2 a0
,g—%w
“ (in degrees)
S o35
= (&l
L.
=1

30

£ 0
@

25 25

20
SUN MON TUE WED THU FR SAT

a3 SFa ot 20 [glen] VLS Frd

Sub questions

Question Number : 46 Question Id : 6326864000 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0



The average temperature in that week is (in degrees)

& S0 difen S (GRoS)

(1) 322

(2) 32

.

(3) 31;

(4) 31-
Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 47 Question Id : 6326864001 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The number of days in that week in which the temperature is nearer to

the average temperature of the week is

& FS0S A difen eaf(fiedBo SIS SD)S SEFHSdOD EDRS

Fere> dowg

(1 1
(2) 2
3 3



Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 48 Question Id : 6326864002 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

On which day the temperature was maximum and by how much more

than the average temperature of the week (in degrees)?

D 523°c5 @683HF 5l |Heh STTTOL BN @& €8 B e
&8P 10565 55 D0ed DBV (BReES) ?

3 3
(1) Wednesday, 8= 2080, 8-
3 3
(2) Tuesday, 3= Nelsl>vilele) 3=
4 4
(3) Thursday, 3= (Hdardo, 3=
4 o’ 4
(4) Wednesday, 8- 2000, 8-
Options :
1. %1
2. %2
3. %3
4. ¥ 4
Sub-Section Number : 6
Sub-Section Id : 632686443
Question Shuffling Allowed : Yes

Question Id : 6326864003 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (49 to 51)



(b) Data Analysis (Marks : 10)
STOF DB (555°¢%0.00 : 10)

The expenditure incurred by a company under seven major heads

A,B,C,D,E Fand G in an year is depicted as percentages and shown in

the following Pie chart. Based on the data answer the questions 49 to

51.

AR DD D BS A,B,C,D,E F 080 G (80 2.8 o 2.8
D055 330S” 23S DI T DITOD (80O D DBoS
SPOCDIBIERNE. &R DTS00 eSE0 49 DO 5198 e
104,50 DS},

Sub questions

Question Number : 49 Question Id : 6326864004 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If the total expenditure in the year is Rs.600 crores, then the amount

spent under the heads C, F and G put together (in crores of rupees) is

&3 D056 1306 FBO H30H0 B.600 5V ans, C,F SHBA G
SO @) 0¢38 EDD TS ) (B, LS

(1) 470
(2) 360
(3) 282
(4) 180

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 50 Question Id : 6326864005 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The ratio of the expenditures spent under the heads A and G together

to that is spent under the rest of the heads together is

A B0 G HEDO D DEIN BB, Wiee @) DO DES

e a— =

DB Dad el

¢y 1739
(2) 8:17
@) 12:27
(4) 34:19

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 51 Question Id : 6326864006 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The sum of angles (in degrees) of the sectors which show the

expenditure towards heads Fand A is

F oDOC) A @3 HD2) DHIZ Ho20HO0DN DTN e Seared

Snedsm (Bfios)

(1) 150
(2) 180
(3) 152
4) 162
Options :
1. %1
2. %2
3.% 3
4. ¥ 4
Sub-Section Number : 7
Sub-Section Id : 632686444
Question Shuffling Allowed : Yes

Question Id : 6326864007 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (52 to 55)

(b) Data Analysis (Marks : 10)
STPOF DBND (S53°¢0y.0 : 10)



170 children went to an amusement park where they could take three
different rides A, B and C. It was known that 40 of them took all the
three rides and 110 of them took at least two of the three rides. Each
ride costs ten rupees and the total receipts of the amusement park were
Rs.2900 through these children. Based on this information, answer the

questions from 52 to 55.

28 DS SEIIN0 S8 IS 170 0O DLeN ABC &©F
SR 6570 HDarBexDd TADSHTDY). 40 H0A DOEN Jwo 7 ch
350 JTFBOS FenDHotHHGILY DB FOES 110008
G036 D00 Bod JFEOS TSI D BOVOH. [Hed
D08 @835 DA G310 ST €8 G590 B0 DD T° 5T° 9D )

SN0 ¢h20) G7.2900 9 BAVOE.

S Qortrdo aerdomr 52 od 55 S8 e |DHEyedd

NPT

Sub questions

Question Number : 52 Question Id : 6326864008 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



How many children took exactly two rides each?

Does HOS DOEN FOS DB 2,855 IO Bothd JdT;EOS
SRS SDE?

(1) 80
2y Is
(3) 70
(4) o8

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 53 Question Id : 6326864009 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many children took only one ride each?

DO HOO DY, FBS (DB 285D, 28) IFES SredvsH
IS DB?

(1) 70
(2) 65
(3) 60

(4) 50



Options :
1. % 1
2.%2
3.3
4. % 4

Question Number : 54 Question Id : 6326864010 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What is the number of children who took at most two rides among the

three rides?

S0rB0eE3S B8RO Boch Jar8ereS Sr¢sdh arS ) HOSok

sNOE?

(1) 130
(2) 125
(3) 140
(4) 135

Options :

1.¥1

2. %2

3.%3

4. % 4

Question Number : 55 Question Id : 6326864011 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The receipts of the amusement park through the children who took

exactly one ride among the three rides is (in rupees)

rQ0E3S 2.8 JIFES SrEdeH FTP) DV o e
ETPSITRE DI Do (Gr.eeS)

(1) 620
(2) 680
(3) 650
(4) 600
Options :
1. %1
2. %2
3.% 3
4.9 4
Sub-Section Number : 8
Sub-Section Id : 632686445
Question Shuffling Allowed : Yes

Question Id : 6326864012 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (56 to 60)

Coding and Decoding Problems (Marks: 10)
§°G0h, &SGR Jdsen (S0 : 10)



In a certain code, n" letter in the English alphabet is coded as
(n + 4) (mod 26)™" letter if n is even and (n — 4) (mod 26)™" letter if n is
odd. The inverse process is used for decoding.

Using this information answer the questions from 56 to 60.

2.5 DN £ S n I8Hos ©@ond, ol SCITFOSD n S
@8 TR (n+4)(A7D0 26) o5 €98 S0 SN0 1 22 DOWS O,
(n — 4) (SN0 26) &5 9E SO 56 TN, BEBON 50 Do DB
C5a O3NS

S Q00 @ISO 56 0d 60 N85 e (DI

QAPTTCD Qo) LOR.

Sub questions

Question Number : 56 Question Id : 6326864013 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§°G 00, A5G 0R Hondzen (S5m0, : 10)



Code for SEVEN is

SEVEN %0 56

(1) OBZBR
(2) OASAR
(3) OAYAR
4) OAZAR

Options :

1. %1

2. %2

3. %3

4.¥ 4

Question Number : 57 Question Id : 6326864014 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§G0h, ASGOA JDsen (S0e¢0ze : 10)

ICET is coded as

ICET %0 §°5%
(1) EXAY
(2) EYIX
(3) EYAX

(4) EYAP



Options :
1. % 1
2.% 2
3.3
4. % 4

Question Number : 58 Question Id : 6326864015 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§°%G0h, &SGR HHsen (S0 : 10)

Which word is coded as GOVERN?

GOVERN 1T §G TaH2238 HSH?

(1) KSRINK
(2) KSRINJ
(3) KSRIMJ
(4) KSRINI

Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 59 Question Id : 6326864016 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§°G0h, &SGR HHsen (S0 : 10)



PAGES is coded as

PAGES %0 §°G

(1) TWCAO
(2) TWKAO
(3) TWCAP
4) TWCBO

Options :

1.¥1

2. %2

3. %3

4. % 4

Question Number : 60 Question Id : 6326864017 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
5@0h, A5'G0oR dshdgen (X0e¢0ze : 10)



Which word is coded as MANGO?

MANGO T §& Doh2GS DA0EH?

(1) QHOS
(2) QEJKT
(3) QEIKS
(4) QEIKS
Options :
1. % 1
2. %2
3.%3
4. 4
Sub-Section Number : 9
Sub-Section Id : 632686446
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 6326864018 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§°G0h, A5'G0R Hovdzen (S5m0, : 10)



If LETTER is coded as MAVVAS, then QUESTION is coded as

LETTER & MAVVAS 1 §%% T, QUESTION %0 §&

(1) ROATUEIP
(2) ROATURJP
(3) ROATVEIP
(4) ROATVOIP

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 62 Question Id : 6326864019 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§G0h, &SGOR Jdgen (33300 : 10)



If CODING is coded as GSHMRK then the code for EXAMIN is

CODING & GSHMRK ™ §°6& D EXAMIN % 86

(1) IBEQMR
(2) 1AEQMR
(3) IBERMR
(4) IBEPMR

Options :

1.9 1

2. %2

3.%3

4. % 4

Question Number : 63 Question Id : 6326864020 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§°G00, A5G 0R Hvdsen (S5m0, : 10)



In a certain code FAMOUS is coded as PERSON and PERVIN is coded as
CLIMAT. Then the code for SAFFRON is

2,8 D8R 56 & FAMOUS & PERSON T s08a5» PERVIN o CLIMAT
T 56 DR, &5 §& S SAFFRON % 86

(1)  NERRIST
(2) OIUUSTN
(3) OISSUTN
(4)  NEPPIST

Options :
1. %1
2. %2
3. %3
4.v 4

Question Number : 64 Question Id : 6326864021 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
5000, ASGOA JDgen (om0 : 10)



If 15789 is coded as XTZAL and 2346 is coded as NPSU, then 8156894

Is coded as

15789 & XTZAL ™ S0005 2346 <& NPSU ™ §& T, 8156894 %
56

(1) ACTUALS
(2) EXTRACT
(3) ACTUARY
(4) AXTUALS

Options :
1. %1
2. %2
3. %3
4.v 4

Question Number : 65 Question Id : 6326864022 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§G0h, ASGOA JDsen (S0e¢0ze : 10)



If TSICET is coded as STCITE, then EXERCISE is coded as

TSICET & STCITE e §°& TR, EXERCISE %o 56

(1) XEREJCES
(2) XEREICSE
(3) XERECIES
(4) XEREICES

Options :

1. % 1

2. %2

3.%3

4.9 4

Sub-Section Number : 10

Sub-Section Id : 632686447
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 6326864023 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
BE), DeNON0, @088 HsDgEN (s37°¢502.e : 10)



If today is Sunday, what day was it 260 days ago?

&e82 330 oNd, 260 O30 18650 ) e oT50?

(1) Sunday e3DB0o
(2) Saturday d 030
(3) Friday DEG0
(4) Thursday haodo

Options :

1. ® 1

2.9¥2

3.%3

4. % 4

Question Number : 67 Question Id : 6326864024 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
B8, DN, 29185 HDaddgen (38026 : 10)



The smaller angle between the hours hand and minutes hand when the

time is 3:48 pm is (in degrees)

28 BBOSTE0S DEFEFPYI0 348 B, (0 HBO DTS
SNV 0SS A S0 (Bl

(1) 114
(2) 174
(3) 186
(4) 116

Options :

1. %1

2.¥2

3. %3

4. % 4

Question Number : 68 Question Id : 6326864025 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
B35, DNANO, 295085 DD geN (53020 : 10)



The time between 5 pm and 6 pm on a day at which the two hands of

4]
the clock will be at an angle of 9?% for the first time.

28 BAOSTB0S J*ONOIHO 5 FOLIeN SHOTAD 6 JOEN LS
Boch Snenen s Seao 9?;@6\3}5 DAOHo

(1) 5 hours 9‘% min. 5 ffoéye> Ei% Qoo
(2) 5 hours 35 min. 5 (0E® 35 Dadare))
(3) 5 hours 4?i min. 5 (f0ede> 4?% QaaPe)
(4) 5 hours 45 min. 5 (SO 45 Qadare)

Options :

1.1

2. %2

3.%3

4. % 4

Question Number : 69 Question Id : 6326864026 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
B8, DNANO, 29s105E> DaddgeN (5302 : 10)



Define the Blood relationships in a family as follows.
() A + B= A is brother of B.

() A— B = A is mother of B.

(i) A x B = A is sister of B.

What is the relationship betweenPand SinP + Q-S7

2,8 00020 88 HodoTrerd & 808 Do QG 5DOT M.
(i) A + B= B 330 SFAHE A.

(i) A — B = B Q305 @] A.

(i) A x B = B 330E) FO A.

P+Q-Se P 0835 S ¢3S D000 eE3?

(1) P is the sister of mother of S.
S Q30E) €9:228 ¢SS P.
(2) P is the brother of S.
S O30Ey PABC P.
(3) P is the sister of S.
S Q3w S8 P,
(4) P is the brother of mother of S.
S A30E) @9:0250 AFSBCH P.

Options :
1. ¥ 1
2. %2
3.%3
4.9 4

Question Number : 70 Question Id : 6326864027 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
BE), DoNANO, 29585 HHdDgEN (5023 : 10)

Two busses arrived at a depot at 11 am and 2 pm with delayed timings
of 18 minutes and 38 minutes respectively. What is the difference in

their scheduled times of arrival (in minutes)?

BOCD 22 )ED 2,8 BB DDA 18 Dadarew «n8ad 38
QoDale) GOSN GAONO 11 HOEIOE) HBAN D)0 2
50830350 DB oM. 5763 ABFed BT DO DS 23650
QOSRWTOES’)?

(1) 150
(2) 155
(3) 160
(4) 162

Options :

1. % 1

2. %2

3.3

4. % 4

Question Number : 71 Question Id : 6326864028 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
B35, DNANO, 295005 DD geN (5385020 : 10)



There are 3 doctors having clinics in the same building. Doctor A is
available between 11 AM and 3 PM on Monday, Thursday, Friday and
Sunday. Doctor B is available on Tuesday, Thursday and Sunday
between 10AM and 2 PM while Doctor C is available on Monday,
Wednesday and Thursday between 9 AM and 12 Noon and on Friday,
Saturday and Sunday between 2 PM and 4 PM. On which day at which
time all the 3 doctors are available?

SOMHED SEvseN 28 B3d0S A5 o OB o). A ©F
SN PG00, ONTTH0, D EFG0 HOC esdhardo
&C5000 11850£3e) B0 TPONO(HO 3 oI 0eiseS 5T &
290C0TENS GOEFE. B &9F DV DoAY 230, HHardo
DO B8HITB0 &ACHO 10 Holyew HNEA NTTETY0 2
Koren sNEES 0wt S0 C @ JENH Fdardo,
2DATFO0 O HHardo Ao 9 Holen HBAW
SNTEI) O 12 fHiodren 563@"}5655 a8 D8 G0, QTG0 DB
SOTE0 HTFEFI0 2 KoLen HEAH 4 KoLren edssS
©0CN2FENS GOLT. & 820 o DeDoITS S0HB Bvsen
£90CD2PENS B0EF?

(1) Sunday 2PM to 4PM
e3OTG0 NG5 0 2 (0 0k 4 oty BB

(2) Thursday 11 AM to 12 Noon
G0 GAANO 11 HoLODNOG D)0 12
plelATSINTe LN

(3) Tuesday 10 AM to 12 Noon
DO GO &S0DNO 10 AOLNOE DTTL) 0 12

plelAIDIN TSN
(4)No day
D Be® BEH
Options :
1. %1
2. %2
3. %3
4.¥ 4

Question Number : 72 Question Id : 6326864029 Question Type : MCQ Option Shuffling : No Display Question



Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
B8, DNANO, 29s105E> DaddgeN (5302 : 10)

Six friends A, B, C, D, E and F are sitting in a row on a bench. Cis left
most and E is night most. If A is between D and F and B is between F

and E. Who is sitting immediate right to A?

esHS yareden A B, C D, E Fen 2.8 20 D SHImr
BB . € JNRD) DISES HOAW E 083D DSBS
B30 )50, D B0 F 6055 A SHBAM F o080 E s0¢sseS B
S0P, A 50 IDT0LR S0BR ) B )Y, TeIH?

(m F
21 D
(3) B
| E

Options :
1.v1
2. %2
3.3
4. % 4

Question Number : 73 Question Id : 6326864030 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



(d) Date, Time & Arrangement Problems (Marks : 10)
B8, DNANO, 29s105E> DaddgeN (5302 : 10)

For positive integers m,n definem @ n=2m—nandm+n=m+ 3n

then(2@G 3)* (4B 5) =

S SJPFPosTEN mn O m P n = 2m —n o0OCA m*n =m + 3n
TABAN 2PN *A@H5) =

() 12
2y 9
B 11
4) 10

Options :

1. ¥ 1

2. %2

3.%3

4.v 4

Question Number : 74 Question Id : 6326864031 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
S8, DNON0, @88 HsDgEN (s37°¢02.e2 : 10)



If X * }r = —|— J.' + _Y:l’ aﬂd pcﬁ]q = ztg !

then (5¢3) = (14¢12) =

7tq

0N,
r—q

x*+y=x+y+xy 0O ppq =

(5¢3) * (14¢12) =

(1) 17
(2) 52
(3) 72
(4) 69

Options :

1. %1

2. %2

3.% 3

4.v 4

Question Number : 75 Question Id : 6326864032 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
B8, DNANO, 29c105E> DD gEN (302 : 10)



fa®@b=(a+b—-1)> -1, then(1®2)® BR3) =

a®@b=(a+b-12-1008, (1RQ2)QB®?3) =

(1) 615
(2) 625
B 575
(4) 525

Options :

1. ¥ 1

2.%2

3.% 3

4. % 4

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Mathematical Ability

63268659
2

Online
Mandatory
75

75

75

Yes

0

1
632686448
Yes

Question Number : 76 Question Id : 6326864033 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0



i) Arithmetical Ability (Marks : 35)

@05ieded s sed (33200 : 35)
L L e T e e R
a+b bte ct+a 1-p  1=g 1-T
_a—b _b——c _c—a 1+p 1+q 1+7 _
= g B ™ e 17 OO0, -

c+a 1-p "1—q "1-r

(1) 1
2} 2
31 3
4 4

Options :

1.9 1

2. %2

3.%3

4. % 4

Question Number : 77 Question Id : 6326864034 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@05ieded e 5ed (300N : 35)



5
m 2
5
@ -2
7
3 -1
7
@ L
Options :
1. %1
2.¥2
3. %3
4. % 4

Question Number : 78 Question Id : 6326864035 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@0851eded O 5ed (3°C0.0 : 35)

pig=2iZqgir=4:58 vis =T Dpqgr:is=

(1) 24 :45:36:105
(2) 24 :36:45:105
(3) 24 :36:45:90
(4) 24 :36:54:105

Options :
1. % 1
2.¥2



3. %3
4. % 4

Question Number : 79 Question Id : 6326864036 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
051ie3ed araQsed (833°C00 : 35)

Rs. 14700 is divided among P,Q, and R such that P got half as much as Q

and Q got half as much as R. Then the amount P got (in rupees) is

S0°.1470000 P, Q, R ©% P& QS Hi50 SHBAM Q% RS Hifo
STIEIED HODTH. €)CH P P0T Inehadn (Sr.eeS)

(1) 2100
(2) 2800
(3) 3500
(4) 4200

Options :

1.1

2. %2

3.%3

4. % 4

Question Number : 80 Question Id : 6326864037 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



i) Arithmetical Ability (Marks : 35)
@05ieded s sed (33200 : 35)

+ r—
V17 + 1242 =

0 133
2) 1++2
@) 2442
4 2443

Options :

1. % 1

2.9 )

3.8 3

4. % 4

Question Number : 81 Question Id : 6326864038 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@05ieded e 5ed (300N : 35)



_ B3H2 1_
Hx= N ,then x 4+~ =
>
X = ”Ehi m@l X +l =
3—2 x
(1) 546
(2) 12
(3) 10
4 5-+6
Options :
1. %1
2. %)
3.¢3
4, % 4

Question Number : 82 Question Id : 6326864039 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@05ieded a0 5ed (33020 : 35)

If 2% divides 7680, then the largest value of a is

7680 & 2% QA0 2rAR a ABEY (8 Densd

0 3
(2) 10



Options :
1. % 1
2.% 2
3.%3
4.9 4

Question Number : 83 Question Id : 6326864040 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@08ieded s sed (3320 : 35)

The remainder obtained when 4'%% is divided by 7 is

4100 5y 7 B 2N0Dd)CH ©DOT 3N0

(1) 4
2 2
3) 1
by

Options :
1. ¥ 1
2.%2
3.% 3
4. % 4

Question Number : 84 Question Id : 6326864041 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



i) Arithmetical Ability (Marks : 35)
@05ieded s sed (33200 : 35)

The GCD of two numbers i1s 23 and their sum is 184. The numbers are

SO DoWEE (.2, 23 HOA% T7¢3 Jho 184 DB, €3 HoWSEeN

(1) 92 .92
2y 63,121
(3) 69,115
(4) 64,120

Options :

1. ¥ 1

2. %2

3.¥3

4. % 4

Question Number : 85 Question Id : 6326864042 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I) Arithmetical Ability (Marks : 35)
@05ieded e 5ed (300N : 35)



What is the greatest possible length of a scale (in cm) that can be used to

measure exactly three cloths of lengths 3m, 5.1m and 12.9m?

330, 5.150. JD8A 12.9 0. ey (e S ST D YBO
§INETNE GOATAOTO NS ESNT e OBNE) 10 &rch
(R0.5.065%) Does?

(1) 60
(2) 30
(3) 90
(4) 15

Options :
1. % 1
2.¥2
3.%83
4. % 4

Question Number : 86 Question Id : 6326864043 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@05ieded s sed (33200 : 35)



The average of 5 consecutive even integers is 38. What is the product of

first and the fifth numbers?

5CD D DB SoWEed HTEN 38 @0, TCHES SHEAW 50855

QOPEE) OO0 o)OED ?

(1) 1248
(2) 1284
(3) 1482
(4) 1428

Options :

1. %1

2. %2

3.¥3

4.9 4

Question Number : 87 Question Id : 6326864044 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@08ieded s sed (3320 : 35)



R T I T U T N R PUR O (T

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 88 Question Id : 6326864045 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@0851eded O 5ed (3°C0.0 : 35)



The greatest among =,2,2 2 is
9 9 2’3’5’4

oS §8a Sos

w |
| o

3
'a

B | =

L7 I 7C N S [ U R TUR I R R [

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 89 Question Id : 6326864046 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@05ieded a0 sed (33230 : 35)



: 75 3 B
The descending order of the numbers aigrg and; s

A a
~=, B8O - 938’5769 (5o00
g .73 5
"I LA e
(1) 9’8’4’6
8 7 5 3
(Zj E:EJEJZ
7 85 3
G $5ea
g8 3 75
B i
Options :
1. %1
2.¥2
3. %3
4. % 4

Question Number : 90 Question Id : 6326864047 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I) Arithmetical Ability (Marks : 35)
081ieded e 5ed (33020 : 35)



The gross income of a person is Rs.22 lakhs. A part of the income is
exempted from the tax. The rest of the income is taxed at 30%. If his
income after deduction of tax i1s 19 lakhs, what is the income (in lakhs)

exempted from tax?

2.8 3558 ey &3cr0H0 22 ©F & Brarohen. erradSsneS 8 armr8
D) DO WAION0) GO, DA STPANO 30% D) GOA.
HeD) BVTVS HHaTeh 9B STFOH0 19 OFen ans, Hd)
AOD) WAESOWODDS SN0 (OF ST) Doeh?

{13 10
(2) 11
(3) 12
(4) 15

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 91 Question Id : 6326864048 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I) Arithmetical Ability (Marks : 35)
08ieded e 5ed (3°H.e0 : 35)



Three candidates A, B, C contested an election and got 4450, 12000 and
3550 votes respectively. What is the percentage of the total votes polled
by B?

SNMH S €9255tDen A, B, Co 2.8 DY 5SS ¢S T 50T 4450, 12000,
3550 2,0 5D )0, B0 LS B 50 OB Fed 00eh?

(1) 38%
(2) 45%
(3) 50%
(4) 60%

Options :
1. %1
2. %2
3. %3
4.v 4

Question Number : 92 Question Id : 6326864049 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@05ieded a0 sed (33020 : 35)



A man sold an article at a profit of 12%. Had he sold it Rs.180 more, 18%

would have been gained. What is the cost price of the article(in rupees)?

2.8 358 2.8 HNYD 12% 7250 €9300T0CH. €965 €8 )oY
E0°.180 8020550 @20 GOTY, 18% 37250 SPOT °Ch. €8 5 eYed §5)
58 (BreeS) Doed?

(1) 2800
(2) 3000
(3) 3200
(4) 3600

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 93 Question Id : 6326864050 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@05ieded T sed (833°C00 : 35)



The cost price of 10 articles is equal to the selling price of the same 12

articles. What is the outcome of this transaction?

105009 §) A8 @3 12 He0He) @S ABE AT, e
TP TBDS DEBO DES?

(1) i—_“% loss %% SN0
) 53—“% profit ‘”‘3—“% e250
B)  Dloss %S0

@ Zoprofit 2% erdo

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 94 Question Id : 6326864051 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@05ieded a0 sed (33020 : 35)



In a business P, Q and R invested Rs.6000, Rs.8000 and Rs.12000
respectively. What is the share of Q in the total profit of Rs.10400 (in

rupees)?

P, Q R &0 28 arsardodS SHam &.6000, Gv.8000, &5.12000e0
2ENDET E8. Twedo e37250 B 104000065 Q TNE), FEF DOd?

(1) 3600
(2) 2400
(3) 1600
(4) 3200

Options :

1. % 1

2. %2

3.%3

4.9 4

Question Number : 95 Question Id : 6326864052 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@05ieded a0 sed (33020 : 35)



A, B and C started a business with investments in the ratio 1: 3 : 5. After 4
months, B and C withdrew half of their investments. At the end of the year,

if C's share of profit is Rs.6000, then B's share of profit (in Rs.) is

A, B, Ce0 1:3:5 DR AAIBS 28 5] (G008, 4
T 506 B, C €0 €503 DEP2HOS” Sfarm) &0 E0tH
Bome) 0. D03 YTr0eh er5oeS C TBwE) €250 e B3r.6000
oS, er50S B B0E) T (BroS)

(1) 3800
(2) 3600
(3) 3540
(4) 3460

Options :
1. % 1
2.¥2
3. %3
4. % 4

Question Number : 96 Question Id : 6326864053 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@05ieded a0 sed (337000 : 35)



Two pipes P and Q can separately fill a cistern in 6 hours and 8 hours
respectively, while a third pipe R can empty it in 12 hours. If all the three

pipes are opened together, then the time taken to fill the cistern is

B0 D P, QEN DA™ 2.8 S HBOM 6 Joeren 85w 8
ot JoNHDY. @F GBI R &FT N 12 KobersS e
DONDADED. NP DD 238 BOW, 8 3¢ J0BErdE H)

DeICNO

(1) 4 hrs. 36 min. 4 108363 36 Voo PeN)
(2) 4 hrs. 48 min. 4 (50636 48 QadoreD
(3) 4 hrs. 12 min. 4 06 12 Qadale)

(4) 4 hrs. 40 min. 4 (0833 40 RDaaleYd

Options :
1. % 1
2.¥2
3.83
4. % 4

Question Number : 97 Question Id : 6326864054 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@05ieded a0 sed (37500 : 35)



An electric pump can fill a tank in 2 hours. Because of a leak in the bottom,
it took 3 hours to fill the tank. In how much time the leak can drain all the

water of the full tank?

2,8 83 2,8 DS H0OY) 2 KoLOS’ DOINHE. & 9chh 27
2.8 O3B B0 @6 3 JoLHOS DoAMNE. T8 $O & Jock &3
2r® °HEFDE HT) HDOADO DOeh ?

(1) 6 hours 6 fOe e

(2) 5 hours 5 ffoéren

(3) 6 hours 30 mins 6 (01 30 Dadare
(4) 5 hours 30 mins 5 H0E)e 30 Qaddaren

Options :
1.1
2. %2
3.83
4. % 4

Question Number : 98 Question Id : 6326864055 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@05ieded a0 sed (37500 : 35)



A car covers a certain distance at 80 kmph and returns the same distance

at 60 kmph. What is the average speed for the whole journey (in kmph)?

0% 80 8.30. oS 2.8 59 2.8 A8 Aror) TO H8H B
SrorR)) 05D 60 §.50. © FHos IHSBBAS, & INGB0o (HOST0S
DD SHO (B.80./508)) DO ?

2
(1) ?D;
4
(2) 66;
(3) 64—
4
(4) 68;
Options :
1. % 1
2. %2
3.83
4.9 4

Question Number : 99 Question Id : 6326864056 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@05ieded a0 sed (33200 : 35)



A man walks along the diagonal of a square field at the rate of 8 kmph for

36 minutes. What is area of the square field ( in sq. kms) ?

BABSS0S D) 2.8 150 MBS DEF0o How foersy 8 8§.2.
SH0S 2,8 358 36 Aaren SGTD. €8 HAMB|SS B 0 JT'0
Do (5. 8. ?

(1) 11.25
(2) 10.52
(3) 1152
(4) 12.64

Options :

1. ¥ 1

2. %2

3.3

4. % 4

Question Number : 100 Question Id : 6326864057 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I) Arithmetical Ability (Marks : 35)
@05ieded e 5ed (300N : 35)



P can do a piece of work in 24 days, Q in 30 days and R in 60 days. In how

many days all the three together can do that work?

P 2,8 5 24 B2rS, Q, 30 2SS SHBAM R, 60 522 8 Tohiierh.
&3 MDD EOD &8 HAJ A S 08 ToHiser?

g 4
(1) llﬁ
10
(2) lDH
10
(3) i
. 8
(4) lDE
Options :
1. % 1
2.¥2
3.%83
4. % 4

Question Number : 101 Question Id : 6326864058 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@05ieded s sed (33200 : 35)



Persons A and B undertook to do a work for Rs.8000. A alone can do it in
6 days while B alone can do it in 8 days. With the help of C, if they finished

that job in 3 days, then C's share in the remuneration is (in rupees)

A, B e 2,8 HA B.8000 &5 DOWEDD. A 2,503 € DD 6 2rereS
TN DOAD B 2,543 98 DA 8 FerereS BAWD. C I5FAH0S
23 DA 3 TS TORE® 58 BN S, FOSHE0 S C By
2750 (S

(1) 1000
(2) 1200
(3) 1400
(4) 800

Options :

1.9 1

2. %2

3.3

4. % 4

Question Number : 102 Question Id : 6326864059 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@05ieded e 5ed (30°¢.ex : 35)



The area of trapezium (in sq. m) whose parallel sides are of lengths are 40m

and 30m and having equal non parallel sides each of 13 meters length is

2,8 D00 e IR0 TE) Dr0sd 2Hered FhsHen 40 .
DB 30 M. ST T DAT0BSoT B Boch 2h2red Srcdeyen
DATST 2525563 1300, % &S &8 deo Heddk)s
ST (5. D. o)

(1) 640
(2) 560
(3) 420
(4) 380

Options :

1. ¥ 1

2. %2

3.3

4. % 4

Question Number : 103 Question Id : 6326864060 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I) Arithmetical Ability (Marks : 35)
@05ieded e 5ed (300N : 35)



A path of width 3 meters is laid on all borders inside a rectangular garden,
whose length and breadth are 40 meters and 20 meters respectively. The

total area of the path, in square meters, is

40 S 8y, 20 xS Tesen)cd EORS 2.8 HY D SRS S
TR, e T 3 DY Teten) & 28 2D DTIED Tr.
R €3 2378 FFL0, V..o,

(1) 284
(2) 248
(3) 324
(4) 264

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 104 Question Id : 6326864061 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@0851eded O 5ed (3°C0.0 : 35)



The volume of a cuboid is 36m?. If its length and breadth are 6m and 3m

respectively, then the total surface area of the cuboid is

2,8 B 050 §3085 HBXTEIO 36 D) WD, T ) &PchsY, BCsen) e
ST 6 0. SNBAN 3 2. ONSND, T JoJrgeser JF°50
(5.5 .08

(1) 68
(2) 76
(3) 64
(4) 72

Options :
1. %1
2. %2
3. %3
4.v 4

Question Number : 105 Question Id : 6326864062 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@05ieded a0 sed (33020 : 35)



The weight of a solid metallic sphere of radius 4 cm is 4 kg. The weight of
a hallow sphere made with the same metal with outer diameter of 16cm

and inner diameter of 12 cm Is,

4 0.8, 5T, EORN S5 0 Ao gy ) 4 8. TS
S o0& HATH TS 28 HO FFD 275g DB ©0HS Trsaren
SEDT 16 V0.2V, 12 V0.8D., ONINED T MY,

(1)  205kg
2) 185kg
3)  16.5kg
@)  155kg

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 106 Question Id : 6326864063 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@05ieded T sed (833°C00 : 35)



The height of a cylindrical pillar is 28 meters and its radius is 3 meters. The

cost of painting around the pillar at Rs.8 per sq. meter (in rupees) is

2.8 Tr5E D020 D) 28 e DB G0 3 WED. (Hed
£9.90.80 &8 © 13N, €8 00250 THEY® S0H TOHEAE eodh DA
SEr.eeS

(1) 3244
(2) 4224
(3) 4284
(4) 4264

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 107 Question Id : 6326864064 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@05ieded T sed (833°C00 : 35)



If the area of an equilateral triangle is 9v/3 em?, then its perimeter, in

centimeters, is

2,8 Do02T0 (832D BF°OF0 93 3. V0. 90N, TR THEY

Fereh (V0.2.0)

(1) 21
(2) 12
(3) 15
(4) 18

Options :

1. %1

2. %2

3. %3

4.v 4

Question Number : 108 Question Id : 6326864065 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@08511eded e 5ed (3°C0200 : 35)



If the diagonals of a rhombus are 20 cm and 15 cm, then its area, in sq. cm,

is

2,8 DD Ve IBY) DET°eN 20 V0., 15 V0.4D. @OANIHCED, °Q

T30, . V0.D.oS,

(1) 220
(2) 150
(3) 180
4) 210

Options :

1. ¥ 1

2.9 2

3.%3

4. % 4

Question Number : 109 Question Id : 6326864066 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@05ieded e 5ed (300N : 35)



492922 ends in the digit

492022 9T HoWs SR DO @OT

(1) 7
(2) 3
(3) 9
(4) 1

Options :

1. %1

2. %2

3. %3

4.v 4

Question Number : 110 Question Id : 6326864067 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I) Arithmetical Ability (Marks : 35)
08ieded e 5ed (33020 : 35)



If 13x = 10 (mod 28), then x =

13x = 10 (mod 28) @®ON)CD, x =

(1) 10
(2) 13
(3) 18
(4) 28
Options :
1. %1
2. %2
3.3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 632686449
Question Shuffling Allowed : Yes

Question Number : 111 Question Id : 6326864068 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
DA%, 2SO S b (S : 30)



IfA=1{1,2,3,4,5,6,7,8} then the number of subsets of A containing 5, 6
and 7 is

A=1{1,2,3,4,56,7,8} 00 5 60805 7030 EDH Al AZNE)

BN DOPS

(1) 128
(2) 16
(3) o4
(4) 32

Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 112 Question Id : 6326864069 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22805, 275030 G seh (X500 : 30)



For three sets A, B and C, if n(4) = 20,n(B — A) = 16 and
n(C—(AUB))=24,thenn(AUBUC) =

(n(A) denotes the number of elements in 4 )

n(4) = 20,n(B — A) = 16 DO
n(C — (AUB)) =24, @3N A, B, C e
o3 ST DOV, n(AUB UC) =

(A S’ PO HOWLD n(4) SrdQ0A.)

(1) 56
(2) 64
(3) 60

(4) 48
Options :
1. % 1
2. %2
3.¢¥3
4. % 4

Question Number : 113 Question Id : 6326864070 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22805, 275030 G seh (S3C02.e0 : 30)



a+b=5=a%+b3+15ab =

(1) 625
(2) 125
(3) 150
(4) 225

Options :
1. ¥ 1
2.¥2
3.% 3
4. % 4

Question Number : 114 Question Id : 6326864071 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
DBA%, 2SO DS b (S : 30)



If ax + b is added to the polynomial 4x* + 2x3 — 2x% + x — 1,

then it is divisible by x? 4+ 2x — 3. The value of 2a + b =

4x* +2x3 — 22 + x — 1 ©F DIVIDE ax + b DI 9

x242x —3 T 2RO 0. DD 2a + b AT DN

{1y 57
(2) 52
(3) 67
(4) 62

Options :

1.9 1

2. %2

3.%3

4. % 4

Question Number : 115 Question Id : 6326864072 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D809, 2530 G seh (53020 : 30)



If x* + 10x? + ax + b is exactly divisible by x + 1 as well as x — 1,

then (a, b) =

x4+ 10000 x—1 ©F x4+ 10x%+ax+ b o rHod &S,
(a,b) =

(1) (1,-10)
(@) 1,—-1)
) (1,10)

4 (=1,10)

Options :
1. %1
2.¥2
3. %3
4. % 4

Question Number : 116 Question Id : 6326864073 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D809, 25305 e seh (S0 : 30)



The remainders when the polynomial f(x) is divided by (x — 2) and (x — 3)

are 6 and 4 respectively. Then the remainder of f(x) when divided by

(x2—5x+6)is

DTV F(x) D (x —2) HBAD (x —3) © T 27rN0DINED SBHSMT
6 oNDBAD 4 €D BoTENT [0, @D f(x) D (2 —5x+6) D
2PRODINEH 5T A0

(1)
(2)
(3)
(4)

Options :

1.¥1
2. %2
3.%3
4. % 4

—dc - 10
Zx -+ 10
—2EED
24 5

Question Number : 117 Question Id : 6326864074 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D205, 278305 G seh (535026 : 30)



The sum of a two digit number and the number obtained by revising the

order of its digits is 121 and the digits differ by 3. Then the number is

2.5 BOOoS® Ho HBAM € HoOWIS'D @OZOD TR
DOOT ODODS HoWEE TS0 121 SHECD €8 BOHOTE HoW§ S’

03 2330 3 oMY, € OO DOYDS

(1) 64
(2) 46
(3) 74
(4) 72

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 118 Question Id : 6326864075 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22805, 275030 G seh (S3C02.e0 : 30)



48 6 _ 15 5 _ e, S
“:F}r_ﬁ_ 10 and;}r+a— gathen (.11}) —
28 _ % —10 HOBD =42 =9 oSN, (x,y) =
xty xX=p xty x-y
(1) (1,2)

(2) (=1,-2)
(3) (2,1)
(4) (—2,-1)

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 119 Question Id : 6326864076 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
DA%, 230D DG b (535020 : 30)



J(x% —2x — 15)(x% — 5x — 24)(x* — 13x + 40) =

(1) (x+3)(x—5)(x+8)
(2)  (x—3)(x—5)(x—8)
(3) (x+3)(x—5)(x—-8)
4)  (x+3)x+5)(x—8)

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 120 Question Id : 6326864077 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2809, 230D DG 5eh (S350 : 30)



The interior angles of a regular polygon are in Arithmetic Progression. The
smallest angle of the polygon is 120° and the difference of consecutive

angles is 5°. Then the number of sides of the polygon is

2,8 15D 2aJ02DH2 SO @oddSearen @oiES S o). e
230292 D) 8690 120° SHBCN BOH SN §ezred sHeds B 5°

90N SR, €8 25TV2H 2SS’ 2Hare oW

(1) 8or14 8 S 14
(2) 9or12 9 B 12
(3) 8or15 8 B 15
(4 9or16 9 S° 16

Options :

1. #% 1

2. % D

3. 83

4. 4

Question Number : 121 Question Id : 6326864078 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D809, 2530 G seh (53020 : 30)



If the fifth term of a Geometric Progression is 7, then the product of its first

9 terms

2,5 2 3B 555 HE0 7 @on SN, €8 13BS Bwese3 9 Hre ©0

Options :
1. %1
2.9 2
3.3
4. % 4

Question Number : 122 Question Id : 6326864079 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
DA%, 230D DG b (535020 : 30)

Cot (6 — 1170°) =

(1) tané

(2) —tan®

(3) cot@

(4) —cotd
Options :

1. %1



2.¥2
3. %3
4. % 4

Question Number : 123 Question Id : 6326864080 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D809, 2530 G seh (e e : 30)

If 0 < 8 < 270° and secf + tan @ :%, thensin @ =

0 <8 < 270° 0803 secl + tan b =%, 9O sinf =

11
) =
. 5
(2)
12
)
4
C
Options :
1. ¥ 1
2. %2
3.3
4. % 4

Question Number : 124 Question Id : 6326864081 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D809, 230D TN 5eh (S22 : 30)



1 1..".5

sin 109 cos100

Options :
1. %1
2. %2
3.%3
4.v 4

Question Number : 125 Question Id : 6326864082 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
DA%, 230D DG b (535020 : 30)

cos(x—yYy=3cos(x4y) = cotx coty =

(1) 2
2) V2
(3) 3
(4) 1

Options :

1.1

2. %2



4. % 4

Question Number : 126 Question Id : 6326864083 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)

D809, 2530 G seh (53020 : 30)
If the angle of elevation of the top of a tower of height 100 m from a point
to its footis tan™ ! G) , then the distance from the point to its foot, in meters,
Is
100 &0. DS 2.8 IWS0 WL TG0 DO §oeh ArGoeS Ko
20Dy OB HBBDODINED FDT D) &G 5 50 tan™! G)
290N, FDBaTE0 D0 HBFOT DochHHBY Hed ordo
(.0

(1) 140
(2) 125
(3) 120
(4) 130

Options :

1. %1

2.9 2

3. %3

4. % 4

Question Number : 127 Question Id : 6326864084 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



i) Algebraic and Geometrical Ability (Marks : 30)
22805, 275030 G seh (S3C02.e0 : 30)

In the given figure A ABC, if ZBEC = 90°, £EBD=40° and £DAC = 30° then

x-]-}r:

Q5505 |82H2s0 ABCS' if 2BEC = 90°, LEBD=40° 08050 £DAC =
30° @O, x +y =

(1) 110°
(2) 120°
(3) 130°
(4) 140°

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 128 Question Id : 6326864085 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2809, 230D DG 5eh (S350 : 30)



In the given triangle, if AD is the bisector of ZBAC, then AC=

R 520G 1832D206S ZBAC  AD DDA 5DOBS TSNS, AC=

(1) 35
(2) 45
(3) 5
(4) 55

Options :

1. %1

2.v2

3. %3

4. % 4

Question Number : 129 Question Id : 6326864086 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D809, 230D TN 5eh (S22 : 30)



What is the area, in sqg. units, of the parallelogram formed by
4x —7y—13=0,8x—yv—39=0,4x— 7y + 39 =0 and

8x—y+13=0"?

4x —7y—13=0,8x—y —39 = 0,4x — 7y + 39 = 0 DO
Bx—y+13=0 T O0DOW HOIB DIT0edS He )z JIF°O50
(5.0 S") Do ?

({1 52
(2) 48
(3) 46
(4) 58

Options :

1.¥ 1

2. %2

3. %3

4. % 4

Question Number : 130 Question Id : 6326864087 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D809, 2EE3 0D TN 5eh (S22 : 30)



The Y-intercept made by the line parallel to 2x — 5y = 5 passing through
the point (5, 4) is

20N (5, 4) (HOE® A 2x — 5y = 5 ODH DST0SB0MT &0T O
DG8T Y-20658 Ocso

LE
2y 2
5y .3
(4 =2

Options :

1. % 1

2.¥2

3.%83

4. % 4

Question Number : 131 Question Id : 6326864088 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22805, 275030 G seh (53020 : 30)



The area of the circle whose circumference is equal to perimeter of a square

whose area is given by 121 sq.cm. (in sq.cm.) is

121 5. 0.20. BFeE) EDS eSO LY FTHE) D3SO0
SIDIBH EDR 55183 59 IF050 (5. 0.80.0¢3)

(1) 154
(2) 148
(3) 169
(4) 189

Options :

1.¥ 1

2. %2

3. %3

4. % 4

Question Number : 132 Question Id : 6326864089 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D809, 230D TN 5eh (S22 : 30)



The number of common tangents that can be drawn to two circles touching

externally is

2SO 09 ))BONER H9@ 50 NONADT &add 2 D)8 D Hows

(1) 1
(2) 2
(3) 3
(4 =4

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 133 Question Id : 6326864090 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
DA%, 230D DS b (XS0 : 30)



The area of the triangle formed by the points (3, 2), (3, -6) and (5, 2) is

(in sq. units)

(3, 2), (3, -6), (5, 2) O DOCVHOT DB (322 TS0
(9.0 S)

(1) 5
(2)
(3)
(4)

S 00~

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 134 Question Id : 6326864091 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22805, 275030 G seh (X500 : 30)



It GE) is the centroid of a triangle for which (3,6) and (5, -2) are two

vertices, then the third vertex is

r

3 3

(5 5) D BoEerdor fe |82h3y) Bodd Igen (3, 6) (5, -2)
@ON S, Hré 200

(1) (3.-2)
(2) (-3, -2)
(3) (-3, 2)
(4) 3. 2)

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 135 Question Id : 6326864092 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D205, 27530 DG seh (53020 : 30)



The equation of the straight line passing through (3, 4) and having slope of
4 is

4 & arenm 3O (3, 4) DoY) Hom® Y DS Tar HaEBe0

(1) 4x +y =8
(2) x+4y =20
{3) 4x —y—8=0
(4) x—4y =0
Options :
1. %1
2. %)
3.¢¥3
4. % 4

Question Number : 136 Question Id : 6326864093 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D809, 2530 G seh (33020 : 30)



Equation of the straight line passing through (0, 0) and (3, 2)

(0, 0) DBAM (3, 2) R DOCHHO HOTE Y HSY By HWEG0

(1) 2x + 3y =
2) 3x+2y=0
(3) Fx= 2y=10
(4) 2x —3y =20

Options :

1. %1

2. %2

3. %3

4.9 4

Question Number : 137 Question Id : 6326864094 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D809, 2530 G seh (33020 : 30)



If the lines 5x — 2ky + 7 =0 and 2kx — 5y + 3 = 0 are parallel, then the

equation of the line passing through (0, 0) and having the slope k, k>0 is

5x —2ky+7 =0 OGN 2kx—5y+3=0 & BDEN DeITTOHTEY,
90NN, (0, 0) HOT FhI, arenad k (RE1Eh k >0) ™ EDRS Do
HEG0

(1) 2x—5y =20
(2) bx —2y=20
(3) 6x—5y =20
(4) 3x+2y =0

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 138 Question Id : 6326864095 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
DA%, 230D DG b (535020 : 30)



The equation of the straight line whose slope is 3 and cuts an intercept of

5 units on the Y-axis is

TN 3 DN, Y- @0683 Do) 5 EODRS D8 Tar Haddeo

(1) y=-hx43
(2) By =x 3
(3) Y3 r s
(4) 3y =x+F35

Options :
1. % 1
2. %2
3.¥3
4. % 4

Question Number : 139 Question Id : 6326864096 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D809, 2530 G seh (53020 : 30)



The distance between (1, 2) and the mid point of the line segment joining

(2, 3) and (3, 4) is, in units

2, 3) , (3, 4) DONIHOD ED T AL DoHSY HOD (1, 2)
DOCHHSE tied 550 (OHTFES)

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 140 Question Id : 6326864097 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D809, 25305 e seh (S0 : 30)



If the line E +§ = 1 passes through the points (2, -3) and (4, -5)

then (a, b) =

=+2=103 I8¢ O (2, -3) HOAW (4, -5)© Ho S¢S Qone

(a, b) =

(1) (1, 1)

(2) (=1,1)

(3) (1,-1)

(4) (-1,-1)
Options :
1. %1
2. %2
3. % 3
4.9 4
Sub-Section Number : 3
Sub-Section Id : 632686450
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 6326864098 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
POWSET R TP 5ed (370202 : 10)



The arithmetic mean of 68, 76, 64, 56, 48, 38, 44, 42 is

68, 76, 64, 56, 48, 38, 44, 42 © @038 N DO

(1) 62.5
(2) 545
(3) 56
(4) 58

Options :

1. %1

2.¥2

3. %3

4. % 4

Question Number : 142 Question Id : 6326864099 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
rOWSET R 0P 5ed (53370202 : 10)



The arithmetic mean of the following frequency distribution is

1508 200N 22 M)a) 0E DN

X 20 A |25 28 | 30

Frequency

NS TN o)

(1) 2562
2) 23
(3) 26
(4) 2492

Options :

1. %1

2. %2

3. %3

4.v 4

Question Number : 143 Question Id : 6326864100 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
POWEET R P ged (63370202 : 10)



The arithmetic mean of 13 quantities is 60. If the mean of the first 7

quantities 59 and that of the last 7 is 61, the seventh quantity is

13 ToHENS) 2.8 ST0FYY) 050500 60. 0SS IS 7
TDE 2905050 59 280 DB 7 TP @05NG500 61
2900 SYCD €8 BT 0FoS 7 o5 TR

(1) 62
(2) 61
(3) 60
(4) 59

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 144 Question Id : 6326864101 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
TPOWEET R e ged (557°%502.0 : 10)



The median of data containing 11 observations is 15. If 8 more observations
32,33,6,9, 8, 2,19, 17 are added to the data, then the median of the new

data containing 19 observations is

11 HBFOIOD DR &) 28 B0 NAEHSSM 15. QOZST 8
DBFOSEN 32, 33, 6, 9, 8, 2, 19, 17 O A0 & SATOFTVE
DD 19 HBBOIDD EDRD Greedd STP0F) 0550

(1) 16
(2) 17
(3) 15
(4) 13

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 145 Question Id : 6326864102 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
PODSET R TP 5ed (55750202 : 10)



The Median of 10, 11, 20, 15, 19, 20, 14, 16 is

10, 11, 20, 15, 19, 20, 14, 16 OT040) o0 §HEH0

(1) 15
(2) 16
(3) 16.5
(4) 15.5

Options :

1. % 1

2. %2

3.%3

4.v 4

Question Number : 146 Question Id : 6326864103 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
ODET R TP 5ed (5578020 : 10)

The mode of 16, 22, 24, 18, 16, 19, 15 is

16, 22, 24, 18, 16, 19, 15 © 2370V P50

(1) 18
(2) 16
(33 15
4) 19

Options :



1. %1
2.2
3.% 3
4. % 4

Question Number : 147 Question Id : 6326864104 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
POWEET R P ged (5572520 : 10)

The mode of the following frequency distribution is nearly

1508 P20 2)222006Y) 2l VFEa) a6 (A ETT)

Family size

50002 2D DO
Number of families
508002570 QOPS

13 |3=55=F | =8| 9=17

9 10 4 4 3

(1) 3.056
(2) 3.286
(3) 3.486
(4) 3.586

Options :

1. %1

2.2

3.% 3

4. % 4

Question Number : 148 Question Id : 6326864105 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



i) Statistical Ability (Marks : 10)
ODET R TP 5ed (5578020 : 10)

A coin is tossed n times. If the probability that head occurs a times is equal

to the probability that tail occurs b times, then n is

2.8 TBR) 1 P ADETVINCD, a B %0 ST Hoerdses, b
P B 5T, D02T5e550 DedTrd0 oSN, n =

(1) a—b
(2) a+b
(3) b—a
(4) 2(a+ b)

Options :
1. %1
2.9 2
3. %3
4. % 4

Question Number : 149 Question Id : 6326864106 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
TPOWEET R e ged (557°%502.0 : 10)



Two dice are thrown. The probability of getting the sum 9 is

B0 TDEOND EB0DINCH ¢33 ST,) ®OSO JIBo 9 HT)

aDEIBY DOZTI5Ed

L= B N e .

Options :
1. ¥ 1
2. %2
3.¥3
4. % 4

Question Number : 150 Question Id : 6326864107 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
POWEET R P ged (63575002 : 10)



If seven persons are to be seated in a row, then the probability that two

particular persons sit next to each other is

D HOA 2,8 KD ¢ B8 IS, [HBEODS YGK Hg¥ven
DR ErBIT NENED Do geh

1
1 3
1
@ <
2
€)=
1
4 3
Options :
1. % 1
2. % 2
3.3
4. % 4
Communication Ability
Section Id : 63268660
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 38
Number of Questions to be attempted : 38
Section Marks : 50
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 632686451
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 6326864108 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Meanings (Sentences with dashes) Q.No.151 to Q.No.155

One who knows many languages is known as a/an

(1) bibliophile
(2) polygamist
(3) polyglot
(4)  absurdist

Options :

1. %]

2. %2

3.3

4. % 4

Question Number : 152 Question Id : 6326864109 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Meanings (Sentences with dashes) (Q.No.151 to Q.No.155

The artist refused to compromise even on minor details. He was
therefore described as being

(1)  vivacious
(2) irritable
(3) tedious
(4)  fastidious

Options :

1. %1

2. %2

3.%3

4.9 4

Question Number : 153 Question Id : 6326864110 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Meanings (Sentences with dashes) Q.No.151 to Q.No.155

The court said that it cannot be of the plight of migrant workers.
(1) oblivious

(2) marginalised

(3) forced

(4)  sympathetic

Options :
1.¥ 1
2.%2
3.%3
4. % 4

Question Number : 154 Question Id : 6326864111 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Meanings (Sentences with dashes) (Q.No.151 to Q.No.155

Everyone was angry him for his misdeeds.
(1) upon

(2) on

(3) over

(4)  with

Options :

1. %1

2. %2

3.%3

4.9 4

Question Number : 155 Question Id : 6326864112 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Meanings (Sentences with dashes) Q.No.151 to Q.No.155

He has to choose between two unfavourable alternatives. He is facing

a —

(1)  farce

(2)  disaster

(3) dilemma

(4) punishment
Options :
1. %1
2. %2
3.¥3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 632686452
Question Shuffling Allowed : Yes

Question Number : 156 Question Id : 6326864113 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
INST Q156 _Q160jpg

Antonym of ‘Noble’

(1) unnoble
(2) ignoble

(3) ennoble
(4) disnoble
Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 157 Question Id : 6326864114 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms (1.No.156 to Q.No.160

The antonym of ‘tedious’

(1) pleasant
(2) bored
(3) tiresome
(4) hideous
Options :

1.v1

2. %2

3.%3

4. % 4

Question Number : 158 Question Id : 6326864115 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms (1.No.156 to Q.No.160

The synonym of ‘proscribe’

(1) prescribe
(2)  ascribe
(3) banish
(4)  describe
Options :

1. % ]

2. %2

3.¥3

4. % 4

Question Number : 159 Question Id : 6326864116 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Synonyms and Antonyms (1.No.156 to .No.160

The antonym of ‘affluence’

(1)  confluence
(2) poverty
(3) influence
(4) wealth
Options :

1. %]

2.¥2

3.% 3

4. % 4

Question Number : 160 Question Id : 6326864117 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms (1.No.156 to .No.160

Antonym of ‘extravagant’

(1)  expensive
(2)  convergent
(3) abundant
(4) frugal
Options :
1. %1
2. %2
3.%3
4.9 4
Sub-Section Number : 3
Sub-Section Id : 632686453
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 6326864118 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Verh (Tense and Voice) (Q.No.161 to Q.No.165

Passive voice of ‘Advertise the vacancy.’

(1)  Vacancy is advertised.

(2)  Vacancy has been advertised.
(3)  They advertised the vacancy.
(4) Let the vacancy be advertised.
Options :

1% ]

2. %2

3. %3

4.¥ 4

Question Number : 162 Question Id : 6326864119 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Verb (Tense and Voice) (0.No.161 to Q.No.165

Active voice of “By whom was the poem composed ?”

(1) By whom composed the poem?

(2)  The poem was composed by whom?
(3) Who composed the poem?

(4) The poem composed by whom?
Options :

1. %1

2. %2

3.¢3

4. % 4



Question Number : 163 Question Id : 6326864120 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Verh (Tense and Voice) Q.No.161 to Q.No.165

Passive voice of ‘Mother baked the cake.’

The cake was baked by mother.

The cake has been baked by mother.
Mother had baked the cake.

Cake had been baked by mother.

| — — —
W M
e e i

Options :
1.¥1
2.% 2
3.%3
4. % 4

Question Number : 164 Question Id : 6326864121 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Verh (Tense and Voice) Q.No.161 to Q.No.165
If it rains, | not come,
(1) did
(2) have
(3) had
(4) may

Options :

1. %1

2. %2

3.%3

4. v 4

Question Number : 165 Question Id : 6326864122 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Verh (Tense and Voice) (Q.No.161 to Q.No.165

Insert present prefect tense of ‘win’

We __ the match.
(1)  were winning
(2) have won
(3) had won
(4)  won
Options :
1. %]
2.9 2
3.%3
4. % 4
Sub-Section Number : 4
Sub-Section Id : 632686454
Question Shuffling Allowed : Yes

Question Number : 166 Question Id : 6326864123 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Phrasal Verbs & Idioms Q.No.166 to Q.No0.170

‘To break ground’ means ‘to %

(1)  stop
(2)  obstruct
(3) commence
(4) intercept
Options :
1. %1
2. %2
3.¢3
4. % 4

Question Number : 167 Question Id : 6326864124 Question Type : MCQ Option Shuffling : No Display Question



Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Phrasal Verbs & Idioms Q.No.166 to Q.No.170
“To put to the sword’ means ‘to o
(1) stay
(2) sleep
(3) stir
(4) slay

Options :

1. %1

2. %2
3. %3
4.9 4

Question Number : 168 Question Id : 6326864125 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Phrasal Verbs & Idioms Q.No.166 to Q.No0.170

To keep up one’s spirits is not easy. Here ‘keep up’ means

(1) restrain
(2) retain
(3)  strain
(4) pertain

Options :

1. %]

2.¥2

3.%3

4. % 4

Question Number : 169 Question Id : 6326864126 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Phrasal Verbs & Idioms Q.No.166 to Q.No.170

Please and see me sometime.
(1) come round
(2) come by
(3) comeup
(4) come off
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 170 Question Id : 6326864127 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Phrasal Verbs & Idioms Q.No.166 to Q.No.170

The army was outrun by the enemy’s fire power. Here ‘outrun’ means

(1)  defeated
(2)  confused
(3) amazed
(4) pleased
Options :
1.1
2.%2
3.% 3
4, % 4
Sub-Section Number : 5
Sub-Section Id : 632686455
Question Shuffling Allowed : Yes

Question Number : 171 Question Id : 6326864128 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Articles & Prepositions Q.No.171 to Q.No.175



He is not friend of mine.

(1)  the
(2) a
(3) by
(4) on

Options :
1. %1
2.¥2
3.% 3
4, % 4

Question Number : 172 Question Id : 6326864129 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Articles & Prepositions Q.No.171 to Q.No.175
He is inferior none.

(1) of

(2) into

i3} “to

(4) on

Options :
1. %1
2.%2
3.3
4. % 4

Question Number : 173 Question Id : 6326864130 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Articles & Prepositions Q.No.171 to Q.No.175



| filled the cup ___ sugar.

(1) wup
(2) an
(3)  with
(4) of

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 174 Question Id : 6326864131 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Articles & Prepositions Q.No.171 to Q.No.175
He left Chennai to attend a wedding.
(1) over

(2) up to

(3) to

(4) for

Options :

1. %1

2. %2

3.%3

4.9 4

Question Number : 175 Question Id : 6326864132 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Articles & Prepositions Q.No.171 to Q.No.175



He went a tour.

(1) up on
(2) over
(3) up
(4) on
Options :
1. %1
2.% 2
3.%3
4.¥ 4
Sub-Section Number : 6
Sub-Section Id : 632686456
Question Shuffling Allowed : Yes

Question Number : 176 Question Id : 6326864133 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Computer Terminology Q.No.176 to O.No.180

A Megabyte is a unit equal to

(1)  10,00,009 bytes
(2)  9,00,005 bytes

(3) 10,48,576 bytes
(4)  11,48,576 bytes

Options :
1. %1
2.%2
3.3
4. % 4

Question Number : 177 Question Id : 6326864134 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Computer Terminology Q.No.176 to Q.No.180

A device used to display information visually is known as

(1) modem
(2) monitor
(3) database
(4)  folder

Options :

1. %]

2.2

3.% 3

4. % 4

Question Number : 178 Question Id : 6326864135 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Computer Terminology Q.No.176 to O.No.180

Ethernet connects

1)  electric lines
2)  calculators
3) computers

) turbines

Options :
1. %1
2.%2
3.¥3
4. % 4

Question Number : 179 Question Id : 6326864136 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Computer Terminology Q.No.176 to Q.No0.180



A term applied to an e-mail message when it is returned as
undeliverable is known as

(1) bridge
(2) buffer
(3) bounce
(4) byte
Options :

1. %]

2. %2

3.¢3

4. % 4

Question Number : 180 Question Id : 6326864137 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Computer Terminology Q.No.176 to O.No.180

A saved link is also called a

(1) bookmark
(2) byte
(3) browser
(4) gateway
Options :
1.¥ 1
2. %2
3.%3
4. % 4
Sub-Section Number : 7
Sub-Section Id : 632686457
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 6326864138 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Business Terminology (Q.No.181 to Q.No.185

Where did TQM originate?

(1) Germany
(2) India

(3) USA

(4)  Japan
Options :

1. %]

2. %2

3.%3

4.9 4

Question Number : 182 Question Id : 6326864139 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Business Terminology Q.No.181 to Q.No.185

Grapevine is a term used in relation to

(1) Formal communication.
(2) Informal communication.
(3) Complaint procedure.
(4)  Confidential meetings.

Options :

1. %]

2.¥2

3. %3

4. % 4

Question Number : 183 Question Id : 6326864140 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Business Terminology Q.No.181 to Q.No.185

The Stock Exchange that introduced “The Screen-based Trading
System” for the first time is

1) Bombay Stok Exchange
2) New York Stock Exchange
3)  NASDAQ

4) National Stock Exchange

— ——, e, ——

Options :
1. %1
2.% 2
3.%3
4.¥ 4

Question Number : 184 Question Id : 6326864141 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Business Terminology Q.No.181 to Q.No.185

A written message typically used in a professional setting is known as

(1) orders

(2) oral communication
{31 memorial

(4) memorandum
Options :

1. % ]

2. %2

3.%3

4.9 4

Question Number : 185 Question Id : 6326864142 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Business Terminology Q.No.181 to Q.No.185
GAAP stands for Generally Accepted ____ Principles.
(1)  accounting
(2)  advisory
(3)  accountable
(4)  administrative

Options :

1.¥ 1

2. %2

3.%3

4. % 4

Sub-Section Number : 8
Sub-Section Id : 632686458
Question Shuffling Allowed : Yes

Question Id : 6326864143 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (186 to 190)

Read the Passage and answer the questions Q.No0.186 to Q.N0.190



All comedy probably arises from our enjoyment of other people’s
mistakes. If we did not make mistakes, there would be nothing in the
world to laugh at. Hence, if we regard laughter as a blessing, we
should pay a tribute to error. In the history of the world the man who
makes mistakes has never been sufficiently appreciated. For all the
mirth he has given us we have repaid him with the basest ingratitude.
Of this ingratitude you will find evidence if you turn to punch and look
carefully at its admirable weekly collection of the errors of journalists
and printers. Not long ago, it was Punch’s custom to give the name of
the paper from which the misprint or mis-statement was taken. You
would imagine that any journalist or printer would have felt honoured
as one who added to the gaiety of the most heavily taxed of nations.
But it was otherwise, protests poured into the punch office. In a world
that rightly appraised error, the newspapers would protest against this
an attempt to rob them of the credit of having increased human
happiness.

Sub questions

Question Number : 186 Question Id : 6326864144 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The origin of comedy is

(1) sorrow at other people’s faults

(2) seconding other people’s faults

(3) enjoyment of other people’s faults
(4) ininspiring other people’s faults

Options :
1. %1
2. %2
3.¥3



4. % 4

Question Number : 187 Question Id : 6326864145 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to the author, mistakes deserve to be

(1) condemned
(2) applauded
(3) punished
(4) forgiven

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 188 Question Id : 6326864146 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The author feels sorry that we have repaid erring men with

(1) gratitude
(2) felicitations
(3) ingratitude
(4) gold

Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 189 Question Id : 6326864147 Question Type : MCQ Option Shuffling : No Display Question



Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The misprints in ‘Punch’ were greeted with

(1) appreciation
(2) protests

(3) enthusiasm
(4) cheers

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 190 Question Id : 6326864148 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Laughter is a to humanity.
(1) curse

(2) hindrance

(3) blessing

(4) punishment

Options :

1. %1

2. %2

3.3

4. % 4

Sub-Section Number : 9
Sub-Section Id : 632686459
Question Shuffling Allowed : Yes

Question Id : 6326864149 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (191 to 195)



Read the Passage and answer the questions Q.No.191 to Q.No0.195

We are now face to face with class conflicts. There has grown up an
intense class consciousness with elements of suspicion and hatred,
envy and jealousy. Democracy is so interpreted as to justify not only
the very legitimate aspiration to bring a more equitable distribution of
wealth, but also the increasing tendency for a levelling down of all
talent. This is not possible. There will always be man of ability who
lead and direct, and others who will obey and follow. It is not true that
all men are born equal in every way, and everyone is equally fit to
govern the country or till the ground. Every line of development is
specific and exclusive. If we wish to pursue one we shall have to turn
our attention away from others. While we should remove the
oppressive restrictions, dispel the ignorance of the masses, increase
their self-respect, we should not be under the illusion that we can
abolish the distinctions of the genius and the fool, the able organized
and the submissive worker. Modern democracies tend to make us all
mere ‘human beings’, but such beings exist nowhere.

Sub questions

Question Number : 191 Question Id : 6326864150 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is class-consciousness mixed up with?

(1) suspicion and envy
(2) humour and satire
(3) tragedy and horror
(4) comedy and benevolence

Options :
1.v1
2. %2



3. %3
4. % 4

Question Number : 192 Question Id : 6326864151 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Levelling talent is

(1) democratic
(2) undemocratic
(3) legitimate

(4) lawful

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 193 Question Id : 6326864152 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Are all men born equal?

(1) VYes.

(2) No.

(3) Definitely.

(4) Undoubtedly.

Options :
1. %1
2.9 2
3.%3



4. % 4

Question Number : 194 Question Id : 6326864153 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Every profession is

(1) wunique
(2) general
(3) inclusive
(4) routine

Options :
1.¥1
2.%2
3.% 3
4. % 4

Question Number : 195 Question Id : 6326864154 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Modern democracies conceive us as

(1) mere human beings
(2) geniuses

(3) fools
(4) monarchs

Options :

1. ¥ 1

2. %2

3.%3

4. % 4

Sub-Section Number : 10
Sub-Section Id : 632686460
Question Shuffling Allowed : Yes

Question Id : 6326864155 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time : 0
Question Numbers : (196 to 200)
Read the Passage and answer the questions Q.No.196 to Q.No.200

The other day, a motoristic friend of mine was complaining to me
bitterly even violently, about the behaviour of pedestrians. They were
abominably careless and stupid, he insisted. | hate to see anyone
agitated by a grievance, and | tried to soothe my friend by an appeal
to reason. | said, ‘No doubt we pedestrians are very trying. But you
must remember that, after all, we were on the roads for many, many
centuries before you came along in your splendid car. And remember,
itisn’t we that are threatening to kill you. Itis you that are threatening
to kill us, and, if the worst comes to the worst, lay some flowers on
our graves.

We are constantly told by the press that we must be ‘traffic-
conscious’. But there is really no need to tell us we must be so. How
could we be otherwise? How not be concussion—apprehensive,
annihilation-evasive, and similar compound words? Very old people
and very young people form the majority of those who are annually
slaughtered upon our roads.

Sub questions

Question Number : 196 Question Id : 6326864156 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The passage deals with the conflicting views of the

(1) motorists and the automobile industry
(2) motorists and their friends

(3) pedestrians and their spouses

(4) motorists and the pedestrians

Options :



1. % 1
2. %2
3. %3
4.9 4

Question Number : 197 Question Id : 6326864157 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The author dislikes to be disturbed by

(1) desires

(2) authorities
(3) grievance
(4) enemies

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 198 Question Id : 6326864158 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In saying, ‘if the worst comes to the worst, lay some flowers on our

graves’, the author is highly

(1) melancholic
(2) ironical

(3) jubilant
(4) lyrical
Options :
1. %]
2.2

3.%3



4. % 4

Question Number : 199 Question Id : 6326864159 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Traffic-consciousness is

(1) inborn

(2) superimposed
(3) instigated

(4) learnt

Options :
1. ¥ 1
2.%2
3.% 3
4. % 4

Question Number : 200 Question Id : 6326864160 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The motorist felt that pedestrians were basically

(1) meticulous
(2) conscious
(3) disciplined
(4) apathetic

Options :
1. %1
2.%2
3.%3
4.¥ 4



